
Q1

2N5551C

Q2

2N5551C

Q3

2SC3503C temp={T4}

Q4

BC550C

Q5
2N5551C

Q6

2N5401C

Q7

2N5401C

Q8

2N5401C

Q9

BC560C

Q10

2SA1381C temp={T4}

M1

IRFP9240C temp={T3}

M2

IRFP240C temp={T3}

M3

IRFP240C temp={T3}

M4

IRFP9240C temp={T3}

C1

8200nC2

8200n

C3

33p

C4

330n

C5

330n

C6

22n

C7

100µ

C8

100µ

C9

10000µ

R1

27k

R2

330

R5

2.2k

R6

2.2k

R7

10k

R8

33k

R9

33k

R10

10k

C10

100µ

C11

100µ

R11

100

10

100

R13

100

R14

100

R15 1k2

R16

10

AC 1
V1
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.OPTIONS numdgt=7

.option plotwinsize=0

.param Freq=20k

.param numcyc=10

.param dlycyc=1

.param FFT=16384

.param simtime=(dlycyc+numcyc)/Freq

.param dlytime=dlycyc/Freq

.param numsampl=simtime/Freq/((simtime/numcyc)*FFT)

.four {Freq} V(Vin) V(Vout)

.incl cordell_models.txt

;.ac dec 50 1 100000000

.tran 0 {simtime} {dlytime} {numsampl}

.incl Zener_models.lib

.param T1=27

.param T2=27

.param T3=27

.param T4=35

1
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